Reflection Sheet

Name: Date: Week #:
Assignments Grade Comments
Parent Signature Please sign weekly
Date Class work Homework (must write in planner as well)
Monday
Tuesday
Wednesday
Thursday
_ Friday
EE R T

****Students must complete their homework daily, 100%; the consequence = silent lunch daily

Parent Signature:



Essential Questions Answers
1.

10.

Ms. Alford- tlalford @wsfes.k12.nc.us Mrs. Reyes- vdreyes@wsfcs.k12.nc.us Mrs. Shore- jIshore@wsfcs.k12.nc.us




Name:

Date:

“Warm-up's Q1W5"”

Monday Warm-up
Solve.

(-21)- (-8)=
(£8)=(r2)=

(-21) - (-38)=
($12)=(34)5
(ELIR(EL2)=

(=7)- (-14)=
(EL9)R(E5)8

(:7) = (-2)=

Show all your work

Tuesday Warm-up
(8.EE.1)

Jack plans to build flower bed. Find the area of the
Square garden.

3 4

4x7y

Show all work here

Wednesday Warm-up
(8.EE.1)
What is the value of the following expression?

Show all work here

Thursday Warm-up
SolvenE o e
4 8

Week:
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